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MATH 201 - Exam II - Term 141 
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Name:-------------------­ ID Number: ____________ 

Section Number: _________ Serial Number: ________________ 

Class Time: _____________ Instructor's Name:___________ 

Instructions: 

1. Calculators and Mobiles are not allowed. 

2. Write neatly and eligibly. You may lose points for messy work. 

3. Show all your work. No points for answers without justification. 

4. Make sure that you have 10 pages of problems, 
10 MCQS and 5 Written Questions (Total of 15 Problems) 

Page Points Maximum 

Number Points 

1 10 

2 10 

3 10 

4 10 

5 10 

6 10 

7 14 

8 6 

9 10 

10 10 

Total 100 
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1. If the plane ax + 3y - 2z = b contains the line 
L : x = 3 - t, Y = 2t, z = t, then a + b is equal to 

(a) 16 

(b) 12 

(c) 4 

(d) 6 

(e) 8 

2. The surface x2 - 4y2 + z2 - 6x - 8y - 2z + 6 = 0 is: 

(a) A circular cone 

(b) An elliptical paraboloid 

(c) An ellipsoid 

(d) A Hyperbolic paraboloid 

(e) An elliptical cone 
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x2 _ y2 
3. For the function f (x, y) = , we have that 

1 +xy 

(a) lim f(x, y) does not exist 
(x,y)-+(l,-l) 

(b) lim f(x y) = 2 
(x,y)-+(l,-l) , 

(c) lim f(x y) = -2 
(x,y)-+(l,-l) , 

(d) lim f(x y) = 0 
(x,y)-+(l,-l) , 

(e) lim f(xy)=-l
(x,y)-+(l,-l) , 

4. The range of f (x, y, z) = 1 J 2 
1 

2 2 is 
n 9-x -y -z 

(a) (-00,0) U[1:3,00) 

(b) (0, 1:3] 

(c) (-00, 0) U(0, 1:3) 
(-00,00)(d) 

(e) (-00 _1],1n3 
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5. 	 Let f(x, y) = j~Y cos t dt. Then fx (;,0) - fy (0, ;) 

is equal to 

(a) 	 -1 

(b) 	 -2 

1
(c) 	 ­

2 

(d) 	 1 

(e) 	 ~ 

6. 	 For w = x 2 + yz with x = 3t2 + 1, y = 2t - 4, z = t3 , the 
dw 

value of dt at t = 1 is: 

(a) 	 44 

(b) 	 0 

(c) 	 -12 

(d) 	 1 

2
(e) 	 ­

5 

________________.r'..-______________ 
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1
7. 	 The directions of zero change in f( s, t) = 2(s2 +t2) at (1,1) 

are 

(a) 	 (-~,~) and (~,- ~) 

(b) 	 (~,~) and (-~,-~) 

(c) 	 (~, ~) and (0,1) 

(d) 	 ( __1 __1) and (1 0)
y'2' y'2 , 

(e) 	 (0, -1) and (-1,0) 

8. 	 The plane tangent to the surface z = x cos y-yeX at (0,0,0) 
IS 

(a) 	 x-y-z=O 

(b) 	 x+y+z=O 

(c) 	 -2x +y - z = ° 
(d) 	 x+y-z=O 

(e) 	 x - y + 2z = ° 
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9. 	 Let w = x + y where x = lnsec2 ~ and y = sin t. 


If ~~ It=a = 1, then a E ( -~, ;) is equal to: 


(a) 	 0 

(b) 	 -1 

1
(c) 	 ­

2 

(d) 	 1 

1
(e) 

2 

z az
10. 	 If xeY + ye + 2(1nx -1) = 0, then the value of ax 1(1,ln2,ln3) 

is 

-4 
(a) 

In8 


-4 

(b) 

In4 


-8

(c) 

In8 


4 

(d) 

In8 


5

(e) 

3ln2 



11. (10d points) Find an eq uat·IOn of a Ian parallel to the line L. _ pane through points A(1 -2 0). x _ -3 + 2t, y = 3t + 1, Z = 4t.' , and B(2, 0, 3) 
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12. Consider the function 
f(x,y) = 1 

In y'4 - x2 - y2 

a) (7 points) Find and sketch the domain of f. 

b) (7 points) Find and sketch the level curve of f that passes through (0, 1). 
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13. (6 points)Let f(x, y) = sin (~) + eX / Y + 5 Sh of ofx. owthatx-+y-=5Y ox oy x. 

I 

'X. C4JS(~)+ ~ e.
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j j j j:::l 



14. 	 (10 points) By about how much will f(x, y, z) = in Jx2 + y2 + z2 change if 
the point P(x, y, z) moves from Po(3, 4,12) a distance of ds = 0.1 unit in the 
direction of 3i+ 6] - if ? 
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I Q II MM I VI I V2 I V3 I V 4 I 

1 a a c e a 
2 a d a a d 
3 a b d c b 
4 a b d c c 
5 a d e b e 
6 a a d c c 
7 a d b d c 
8 a b e d b 
9 a d e a c 
10 a e d d a 


